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Midpoint and Distance 

Find the coordinates of the midpoint of each segment. Then find the length of the segment.  

1. 𝑋𝑌̅̅ ̅̅  with endpoints 𝑋(2, 6) and 𝑌(8, 14) Midpoint: ___________________ 

 

  Length: ___________________ 

 

2. 𝐶𝐷̅̅ ̅̅  with endpoints 𝐶(−5, 3) and 𝐷(−1, 9)  Midpoint: ___________________ 

 

  Length: ___________________ 

 

3. 𝑀𝑁̅̅ ̅̅ ̅ with endpoints 𝑀(10, 11) and 𝑁(−14, 4)  Midpoint: ___________________ 

 

  Length: ___________________ 

 

4. 𝑄𝑅̅̅ ̅̅  with endpoints 𝑄(−2,−12) and 𝑅(−6,−9)  Midpoint: ___________________ 

 

  Length: ___________________ 

Find the coordinates of the endpoint.  

5. 𝑀 is the midpoint of 𝐴𝐵̅̅ ̅̅ . 𝐴 has coordinates (10, 4) and 𝑀 has coordinates (15, 7). Find the 

coordinates of 𝐵. 

Coordinates of 𝐵: ____________________________________ 

 

6. 𝐾 is the midpoint of 𝐽𝐿̅. 𝐽 has coordinates (−2, 8) and 𝐾 has coordinates (2, −1). Find the 

coordinates of 𝐿. 

Coordinates of 𝐿: ____________________________________ 

 

Use the graph to find the length of the segment.  

7. Find the length of 𝐴𝐵̅̅ ̅̅ . 

 

𝐴𝐵 =_____________________________ 

 

8. Find the length of 𝐶𝐷̅̅ ̅̅ . 

 

𝐶𝐷 =_____________________________ 
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Midpoint and Distance Answers  

Find the coordinates of the midpoint of each segment. Then find the length of the segment.  

1. 𝑋𝑌̅̅ ̅̅  with endpoints 𝑋(2, 6) and 𝑌(8, 14) Midpoint: (5, 10) 

 

  Length: 10 

 

2. 𝐶𝐷̅̅ ̅̅  with endpoints 𝐶(−5, 3) and 𝐷(−1, 9)  Midpoint: (−3, 6) 

 

  Length: 2√13 

 

3. 𝑀𝑁̅̅ ̅̅ ̅ with endpoints 𝑀(10, 11) and 𝑁(−14, 4)  Midpoint: (−2, 7.5) 

 

  Length: 25 

 

4. 𝑄𝑅̅̅ ̅̅  with endpoints 𝑄(−2,−12) and 𝑅(−6,−9)  Midpoint: (−4,−10.5) 

 

  Length: 5 

Find the coordinates of the endpoint.  

5. 𝑀 is the midpoint of 𝐴𝐵̅̅ ̅̅ . 𝐴 has coordinates (10, 4) and 𝑀 has coordinates (15, 7). Find the 

coordinates of 𝐵. 

Coordinates of 𝐵: (20, 10) 

 

6. 𝐾 is the midpoint of 𝐽𝐿̅. 𝐽 has coordinates (−2, 8) and 𝐾 has coordinates (2, −1). Find the 

coordinates of 𝐿. 

Coordinates of 𝐿: (6, −10) 

 

Use the graph to find the length of the segment.  

7. Find the length of 𝐴𝐵̅̅ ̅̅ . 

 

𝐴𝐵 = 5  

 

8. Find the length of 𝐶𝐷̅̅ ̅̅ . 

 

𝐶𝐷 = 4√5  

 

 

 

 

 

 


